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Directions: There are in all 30 questions in this question paper. All questions are

(ii)

(iii)

(iv)

(v)

(vi)

compulsory.

et g FreiRa 3w 37 wapa sifea )

Marks alloted to the questions are mentioned against them.

TS Y B LSS ufed aen e 3w Al

Read each question carefully and answer to the point.

Y W 1 sgfaaciia ¥ 21 59 w9 & s @vE B 7R ¥ ar Ao
fedy e &1 < farapea st seRgRaaet % iR e < 2 % 9 7 i

Question No. 1 is multiple choice question. Four options are given in

answer of each part of this question. Write correct option in your

answer book. Question No. 2 to 9 are definite answer type questions.

S¥ T 1 BT T WUS U 3 BT &1 NI W 2 A 9 P v 3P B

T & 999 6 10 9 15 T 8 37 B T &1 W 0 16 ) 23 a5 @
3 B T 1 T WEAT 24 W 30 7% R 3 b W &

Each part of question No. 1 carries one mark. Question No. 2to 9
are of one mark each. Question No. 10 to 15 are of two marks
each. Question No. 16 to 23 are of three marks each. Question No.
24 to 30 are of four marks each.

T IR0 W Y R B Reeq 78 2 aunf ofiea st § siaRes e
Sz foran a @1 0 et o am oo Ryeer &1 & 39k A

There Is no overall choice In this question paper, however, an internal

choice has been provided in few questions. Attempt only one of the
given choices in such questions.
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1. (%) oo faeras S Riewa & o &R 21 &) 51 ferasy @1 pH-aF Avad: 8- 1

A solution turns blue litmus red. Its pH-value Is likely to be-
(iy 10 ( 4
iy 7 (v) 14

(W) eAHTES 3T B TAAS T 8-
The chemical formula of Ethanoic acid Is-
(i) HCOOH () CH,CHO
(i) CH,COOH (lv) C,H,OH

(M) F=fcRea #§ o swaendt sitearss &7

Which of the following is an amphoteric oxide?

(i) Na,0 (i) MgO
(i) AlO, (iv) SO,
(m FrafaRea ¥ & ot o & &2
() FYeH iy uradiees
(ii)) TGS S (v) RO
Which of the following is a plant hormone?
(i) Insulin g (i)  Thyroxin
(iii) Oestrogen (lv) Cytokinin
(%) wa A3 & S wmn & fosft avq o widifone s @, @@ @-
(i) o= (i) aRaRe
(i)  gaen (iv) greded
The human eye forms the image of an object at its-
(i) Cornea (i)  Iris\
(i)  Pupil (iv) Retina
(@) faega viRa &1 S.1. 7o 8- |
(i) dT i 3m
(i) ofgER (iv) 3m-MeR
The S.I. unit of electric resistance Is-
()  Volt (i) Ohm
(li) Ampere (iv) Ohm-meter

(B) U e o o BIHd g 20 N 81 SN epven -

The focal length of a concave lens is 20 cm. Its power will be-

() +2D () -20
() +SD (v) -5D
233 (HGT) t2]
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(57) - & g% aaa @ . 1

() & eEaiieaRs (iy o
(i) WA (iv)
The main constituent of bio-gas is-
(i) Carbon dioxide (ii) Ethane
(i) Methane (iv) Ammonia
2. I UW] &AW g Tt el 3 v T R g srawr ¥ i S &1 1
Write the name and symbol of the metal that exists in liquid state at normal
temperature.
3. Fe=foRaa wmafe sithfea & foe dqfera aviiasor foRae - 1
ERISH + N — SRS aeRIgs
Write the balanced equation for the following chemical reaction.
Hydrogen + Chlorine — Hydrogen Chiloride
4. 3T Fad ARON & Fw e feira siad ® awl & v A 1
Give the number of elements present in first and second period of Modern
Periodic Table.
5. 3o WTiod UKy ¥ 98 OF & UTH adT &? 1
What are the components of the transport system in highly organised plants?
6. ¥R W Jafad Searaat faga ey B 3ngfy feaa &2 1
What is the frequency of alternating current (AC) produced in India?
7. foea 35t o1 aoRe aEe @ &2 1
What is the commercial unit of electric energy?
8. e &1 A o a7 g fvar stmar 22 1
Which instrument is used to measure blood pressure?
9. ¥R At T & fore Rara: Ty o o1 3wa fosa st &2 1
Which element is mostly used to make solar cell?
10. EISFISHIGRT F41 87 390! v sitefiie srgrai forRad 2
What is Hydrogenation? Write its one industrial application.
11. FreafoRaa it @ 1upAc # FrmaRor SRR - 1+1=2
Give the IUPAC name of the following compounds -
(F) CH; — ﬁ —H
(|) CH,-C=C-H
233 (HGI)
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12,

13.

14,

15.

16.

17.

18.

s fivan v @7 st e 4 were Y avan v 7 2

What is reflex action? What Is the role of brain In reflex action?

TN T T &P WA Feeor & R dhen wod wmh ot A e avar &7 2

What Is Photosynthesis? Where do plant get raw materials required for
photosynthesis?

T3 2 5 axd &2 7 Prawor 35 fre By war 35 35 @ o i 2

What is Hypermetropia? What type of lens Is used for correcting hypermetropla?

T Ao @ ¥ e D 2
What is 'Chipko Andolan'? Clarify.

(@) 37 St e o o ergRvaTiRe sner i 2 s & 4 @ ) A Breadt
& 1

Which gas is produced when dilute hydrochloric acid is added to a reactive
metal?

(@) 3matie it @ Faumis e w2 2y 27
Why do ionic compounds haye
() T & & gzt & w1 ffad
Write the name of two allotropes of carbon.
a‘raa?'x'am'y'émmasm: 11 a1 17 &
Two elements 'x’ & 'y' have atomic numbers 1
(@) "x' T 'y B oD AT R
Write the electronic configuration of 'x' & y',
(&) T "% TA7 'y et wRoY § o ey 39
Where in the periodic table, the elements 'x' & 'y' are placed?
(M 7T 'x' 70 'y’ 159 wBR % 3199 (UM a1 3oImgm) g9ri?
Which type of ion (cation or anion) will be formed by the elements "' &'y'?
SAAT1/0R
Frferfe it 2 o fg 2R -
Give the electron-dot structure of the following compounds-
(@) Co, (@) H,S (M C,H,

IV (W) BY TN e Ry a1 ooty

3
Describe the structure and functioning of naphrons,

high boiling point?

1 & 17 respectively-

1

1+1+1=3
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19.

20.

21.

IR UTEH T 1 W U3 a9mg aun gl PraferRaa wmii @) gofzd- 1%+ 11a=3
Draw a neat & clean diagram of human alimentary canal and label the following
parts in it-

(i) I () apa (iif) S 31
Stomach Liver Large intestine
Iar/OR

T B I FIC B I R T3 aun 59 FmfeRaa wmit @) 3ifsa SitR-
Draw a neat & clean diagram of the longitudinal section of a flower and label the
following parts in it-

(i) RO (i) afdem (iii) 3™
Anther Stigma Ovary
(®) it o amesa Fram ke 1

State Fleming's Left-hand rule.

(@) 2 faga acsi A T B A HHI: 60W, 240V TUT 100W, 240V 3if5a &) oFT B>
qarsd feowa wicrier Jrfers dwme 2

Two electric bulbs A & B are marked 60W, 240V and 100W, 240V
respectively. Calculate which one of them has greater resistance?

e Y aRyer 3 ¥ or HR-

In the given circuit diagram, calculate-

(®) TR @1 FeT ok 2
The total resistance of circuit |

(@) aRox ¥ warfea get farge e 1

The total current following In circuit

40Q
38, 6o\
A

| —-®—

12v
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22, (®) mﬁs@m%maﬁmﬁmaﬁmtnmf&mmma%ﬂm |
TaY B v d? 2

What is meant by spectrum of light? Which colour of spectrum deviates the
most and which the least?

(W) 7Fa ¥ 3t I g 3 fore g fig o Fvae fig 3 @ sl QY R €7 4

What is the far point and near point of the human eye with normal vision?

23. m%mmﬂmé?mﬁﬁﬁmaﬁm@mé? 3
What do you mean by Ecosystem? What is the role of decomposers in the
ecosystem?

JAAQT/OR

TS R @ar &7 TP HATER Aen 1 Jarexot e o gwnt fifiny ot v qamsed
What are trophic levels? Give an example of a food chain and

state the different
trophic levels in it.

24. 1 EY1 & 519 (ST A wieRor Rikad)-
What happens when (write only chemical equation)-
(@) i B i difzaw arghoars @ & s
Zinc reacts with sodium hydroxide.
(T) IH-T wlie TR 9 Fanfea o o &
Steam is passed over red-hot iron.

(m tﬁﬂ\sasma?riﬂ%waﬁméswmﬁmaﬁm%i

Ethanoic acid reacts with sodium bicarbonate.
(o) %mwaﬁsnxaasmﬁmm%l |
Zipsum is heated upto 373 K.

3a/OR |
() Wmmﬁﬁmﬁm&mﬁﬁﬁwé? |

1
How many periods and groups are there in
(@) UF T "M et TR & ek g F @ S s W RRey

An element 'M' is present in third group of the periodic table. Write the
formula of its oxide.

1x4=4

the Modern Periodic Table?
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25.

26.

27.

28.

(1)

()

(@)

FEriaor 3RfEa & 22 v Fereor AR 2

What Is neutralisation reaction? Give one example,

e sffsar % war arewd &2 Frefifam afifsar # svafia o safa verd
Faga- 2
What is meant by Redox reaction? Identify the substances that are oxidised
and reduced in the following reaction -

MnO, + 4HCI - MnCl, + 2H,0 + Cl,

TSI Ao T &2 ITEROT IR FHARA | 2

What is homologous series? Explain with an example.

() 77 S IR 7 39 w1 o 7 forRad 3 &7 aen veomew 291 wifda s &4

(@)

()

()

(P)

()

1
Name a gland in the human body that secretes both hormone as well as
€nzyme. https://www.ukboardonline.com

A g6 TS B ITANT B Telg &t & St &7 1
Why is the use of iodised salt advisable?
FHSTA TAT FHEY 371 &6 vep-vap Jareeor foiRad) 1
Write one example each of Homologous and Analogous organs.
wbfcit o Jwafentt 7 o ve-ue JareRor Rl 1
Write one example each of unisexual and bisexual flower.
YERGHE (TAGH) TIT JPerT § 319 J0T T9ea &7 2
What do you understand by Regeneration and Budding?
QRITOT T e W 3R W Bhiford] 2
Differentiate between Pollination and Fertilisation.

JUGi/OR

»
(@) P diIsT SR (JPR) B WG 150 a7 37 Bl 31 o A 2

Draw the structure of a neuron and explain its function.

(@) #ra & o o foim Prafror 2 e e 2
How Is the sex of the child determined in human beings?
feegar st a1 Swifese s WiRRN v Rigra qun iRy wvee 4

Draw a labelled diagram of an Electric generator. Explain its principle and working.

233 (HGI) (7] [ P.T.O.

https://www.ukboardonline.com



9. (3 sﬁxhwéimzoﬁm@mamﬁnasgmmasmauﬂﬁél
F’f'“?’?a??lﬂﬁﬁam‘rﬁi?.muﬁfataﬂﬁmﬁu@%mmmﬂaﬂ%@l

3
A S cm long object Is placed perpendicular to the principal akis of a convex

lens of focal length 20 cm. The distance of the object from the lens is
30 cm. Find the position, nature and size of the image.

(@) Wica & Twa gd oW Tl v g 27 1
Why does the Sun appear reddish early in the morning?
IAUQT/OR

(&) P It oY g1 e avg & FrafoRaa Raferal & v R wfofa s e & foe
aet faRor IIRT T3, 9 % - 2

Draw only ray diagram to show the formation of image of an object by a
convex lens when object is placed -

(i) o9 & PIST F a2 TSIk &% 0 S 9 2l

between focus F and optical centre O of the lens.

(i) TNSFI2FFTTAI
between F and 2 F of the lens,

(W) W1 TG ¥ 1.50 AP S Bra § w39 e 2| Bia 3 v & @ g 2l
qg W T B T 3% 108 We/AFoe B 2
Light enters from air to glass which has a refractive index 1.50. What will
be the speed of light in glass? The speed of light in air is 3x10® ms-.

30. (@) IrgAvse ¥ IS WA & T4 7™ &2 IS ®a & smea S e 3 S @l
IR &P 2

What Is the importance of ozone layer in the atmosphere? Which substances
are responsible for the depletion of ozone layer?

(@) gataRor- i & & fore ane srd aneal o S & WRads 1w & 2

What changes can you make in your habits to become more environment-
friendly?

EekkE
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